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QUESTION 1

What is a benefit of using Enhanced vMotion Compatibility for an environment?

A. EVC masks CPU features to allow compatibility between hosts that are dissimilar.
B. EVC allows for cross platform vMotion to occur.

C. EVC enables Long Distance vMotion.

D. EVC enables Storage vMotion functionality.

Correct Answer: A

VMware Enhanced VMotion Compatibility (EVC) will mask CPU features at host level Reference:
http://searchvmware.techtarget.com/tip/Avoiding-an-Enhanced-VMotion-Compatibility-gotcha

QUESTION 2

What information is required as part of an interactive ESXi 6.x installation?
A. Keyboard layout

B. IP Address

C. Root password

D. DNS information

Correct Answer: A

Keyboard layout is required for interactive ESXi 6.x installation Reference: http://www.unixarena.com/2015/05/how-to-
install-vmware-vsphere-6-0-esxi.html

QUESTION 3

An administrator is creating a new vSphere Distributed Switch that will be utilized with a specific vSphere Cluster. The
cluster itself contains a mix of ESXi 5.x and 6.x Hosts.

Which Distributed Switch version should be created to support this configuration?
A. Distributed Switch: 6.0.0
B. Distributed Switch: 5.0.0
C. Distributed Switch: 5.1.0
D. Distributed Switch: 5.5.0

Correct Answer: B
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vSphere Distributed Switch Version: 4.0 Compatible with ESX/ES¥i version 4.0 and later. Features released with later vSphere distributed

| switch versions are not supported.

vSphere Distributed Switch Version: 4.1.0 Compatible with ESX/ES¥i version 4.1 and later. Features released with later vSphere distributed
switch versions are not supported.

vSphere Distributed Switch Version: 5.0.0 Compatible with ESXi version 5.0 and |ater. Features released with later vSphere distributed switch

versions are not supported.
vSphere Distributed Switch Version: 5.1.0 Compatible with ESXi version 5.1 and later.

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%
2Fcom.vmware.vsphere.networking.doc%2FGUID-09176C71-1748-460B-BB7B-3671AB855D7E.html

QUESTION 4

An administrator is configuring load balancing for a vSphere 6.x deployment. The administrator wants optimal load
distribution, but the network team has established that no changes can be made to the physical network.

What load balancing meets the stated requirements?
A. Route based on Mac hash.

B. Route based on IP hash.

C. Route based on the originating virtual port.

D. Route based on physical virtual port.

Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.0/com.vmware.vsphere.networking.doc/GUIDA4F1BF4B-8199-45A1-9578-1E4B6B08DABO.html

QUESTION 5

Why are some virtual machines orphaned after rebooting a High Availability (HA) enabled host?

A. The Orphaned virtual machines have HA restart disabled.

B. The Orphaned virtual machines moved recently and the change did not persist.

C. The host is attached to failed storage.

D. The host just came out of maintenance mode.

Correct Answer: A

If the host is rebooted within an hour after the virtual machines are moved or powered on, the vminventory.xml file does

not persist and hostd does not report these virtual machines as registered on the host. In an HA-enabled cluster, this
condition impacts only the virtual machines with HA restart disabled. Reference:
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https://kb.vmware.com/selfservice/microsites/search.do?

language=en_USandcmd=displayKCandexternalld=1003742#reboothostonehour
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